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Answer the following questions: (Each onen4arD

I-Plate lectonics
Choose the correct answer of the following:
1- The composition of oceanic crust:
a-is granitic composition b-is basaltic composition

2- Average thickness of mantle is
a-2500 km b-1900 km c-3900 km d-2900 km

3- Average thickness of cole is
a-2500 km b-1470 km c-247Akm d-3470 km

4- Plate tectonics is a result of Earths internal heat engine, powered by
a-the Sun b-gravity c- heat flowing from Earths interior outward

5- Volcanics island arcs are associated with
a- transform boundaries b-divergent boundaries c- convergent boundaries

6- What type of plate boundary has the two plates moving away fnom each
other?
a-Divergent plate boundaries b-Convergent plate boundaries
c-Transform-fault plate boundaries d- All of the above

7- Convergent boundaries are areas where:
a-two plates come together b-trvo plates slides past each other
c-two plates.slides apart frorn each other d-all of the above

8- The type of plate boundary to have Earthquakes:
a-subduction b- spreading center c-transform fault c-all of the above

Il-Crvstallography and mineralogy
Indicatebythesign( r' )or( x ):-
9-TheMonoclinicSystem (a*b*c)(a =y* F=90o) ( )
10- The Tetragonal System (a = b: c) (o =P*T:90") ( )
1l- The Trigonal System (ar = ?z: ?t* c) (a: F = y: 120') ( )
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of a mineral to break along prefeired di...ti-, i, called:-
hardness c- crystal form dJeavage

13- Glass is : a-atoms randomly arranged b-crystalline c-covalent bonded

14- Soapy feel in: a-talc b-quartz c-pyrite

III-Rocks
15- which of the following pairs of igi6Grocks have the same minerar
composition?
a-granite- rhyolite b- granite- andesite c-granite- basalt d-granite-gabbro

16- Mafic rocks contain about yo silica.
a- 20 b-50 c-80 d- 100

12- The ability
a- fracture b-

a-fine grained

18- Which is not an
a-gabbro

b-coarse grained

intrupive igneous rocks.
b-basalt

l7- Texture of volcanic rocks is

c-pegmatitic texture

c-granite

19- Types of sedimentary rocks are:
a- clastic sedimentary rocks b- organic sedimentary rocks
d- chemical sedimentary rocks e- all of the above

20- A sedimentary rock made of caco3 composition is:-a-Coal b-quartzfte c-limestone

b-sedimentary rocks

metamorphism into:-
c- quartzite

23- Agent of metamorphism are
a- pressure b-temperature c-chemical active fluids d-all of the above

24- Gneiss rocks is
a-regionalmetamorphism b-thennalmetamorphism c-dynamicmetamorphism

25- Types of metamorphic rocks

2l- Sand is a-sediments

22- Limestone recrystallizes during
a- schist. b- marble

a- regional b-therrnal c-dynamic d- all of the above
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S.t..t th. t.ttr(A, B,b, O, or E) of the choice that BEST answers the question. Each question

has ONLY one correct answer

l- Units A, B, C, D, E, and F are sedimentary rocks .Unit G is
granite

Which of the following statements is true?
a. Deposition of unit A occurred before deposition of unit B

b. Erosion took place before the deposition of unit B

c. Unit C is younger than unit A

2-Match thc t-r'pe of tault with the appropriate aspects with
which the-v are associated

vertical motion of fault blocks, fault scarps

hanging wall block moves down relative to
footwall block

horizontal block motion

hanging wall block moves up relative to footwall
block

low-angie reverse fault

3. ;\ thrust tirult is dil'tbrent I'rom a reverse lhult trecause -.-.
A. it is higher-angle, and is the structure that transports its hanging wall block only a few

meters
B. it is iower-angle, and is the structure that transports its hanging wall blook many kilometers

C. it is usually smaller and less important
D. it is sometimes a normal fault if it is at an angle of about 45 degrees

-l- Which of the f'ollorving is NOT true about o'dip-slip'o laults?
A. they are folded layers of rocks
B. they are "normal" 0r o'reverse"

c. they are fractures where there is motion of the blocks on either side

D, they have motion in the plane of the fault

5. An anticline is

A. Upfolded or arched rock layers
B. Downfolds or rock troughs
C. Large, step-like folds in otherwise horizontal sedimentary strata
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6-,4 mechanical weathering process caused tr ure release or unloading is
0
y press

A-
B-
C-
D-

sait wedging
hydrolysis
exfbliation
abrasion

7-How does weathering differ from erosion?

A-Weathering results in different material being formed; erosion removes the old material.

B Weathering requires the presence of moisture; erosion requires moving water.

C -Weathering is an external process; erosion is an internal one.

D -Weathering is the breakdown of material; erosion is the removal of the weathered material.

S-Hydrolysis is a chemical reaction in chemical weathering; it is responsible for:
A. The Oxidation of the elements iron and copper
B. The conversion of feldspars, the most common minerals in the earth's crust, to ciay
C. The addition of water to the mineral anhydrite

9- Soil
A. Is a combination of particles of rocks, minerals, and organic matter produced through

weathering processes

B. is a material contains the necessary nutrients to support various forms of plant and animal
Iife.

C. Is formed from horizons vary in depth depending on an areas climate and weathering rates.

D. All of the above

1O-When carbonate laden water reaches the air of a limestone cave, it loses some of its
dissolved COz and calcite precipitates to form limestone deposits called ..?..

A. loess

B. calcite
C. travertine
D. stalactite and stalagmite
E. canddabove

The following question (question 5) refers to this diagram of a barchan sand dune.

11. Barchan sand dunes rmigrater because of sand erosion on the windward slope and sand

deposition on the leeward slope (slip face). Which arrow on the diagraln above is the correct

wind direction to form this crescent-shaped sand dune?

L

A- East B-West



12. In deserts, the main cause of erosion is:

A- Sandblast Jt--,il tM and wind transport

B- Running water

C- Soil creep and other forms of mass wasting

D- Chemical breakdown and solution (chemical weathering)

13. Desert Pavement is:

A- A highway across the desert

B- A saltY crust in the desert

C- A layer of coarse rocks and pebbles left behind by deflation

D- An alluvial fan

14- Which one of the following staternents is FALSE?

A. Sand dunes are the most common desert landform'

B. Ventifacts are not common in deserls'

C. Wind can move sand grains by saltation

D. In deserts, tt e procesJin which wind picks up sediment is called deflation'

15-The suspended sediment Ioad of a stream consists of particles that are"'

A. rolling and sliding along the stream bed

B. held aloft in turbulent eddies'

C. transported in the form of chemical ions

D. All of the above.

E. AandBabove

l6-when a steep mountain stream enters a flat valley, sediments transported in the stream

become deposited. These deposits are called """""?
A. biogenic ooze

B. alluvial fans

C. turbidites
D. loess

17- Along the inner parts of the meanders, the water is characterized by

A- High velocities and erosion B- slow veiocities and dePosition

l8- PermeabilitY is:

A- fhe ability of a solid to allow fluids to pass through'

B- The process by which plants release water vapol to the atmosphere'

c- The amount of water vapor in the air relative to the maximum amount of water vapor

that air can hold'

D- The percentage of pore space in the rock'

l9- The troundary between the saturated zone and the unsaturated zone is called the:

B- Aquifer C- Aquiclude

3

A- water table D- Porosity
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Z0- .... .......is a natural underground ilpening with a connection to Earth's surface'

f----,-,/
\

A- Cave B- Sinkhole C- Sinking stream

2l-,,..,.....isaplacewherewaterflowsnaturallyfromrockontothelandsurface.
A- Well B- Perched water table C- Spring

22-Which one of the following statements is FALSE?

A fossil maY be:
A- an original skeleton or shell;

B- a mold or cast,

C- material that has replaced the once living thing;

D- traces such as footprints or worm tubes

E- an original body found in the present time

23-Which one of the following statements is True?

One of the conditions promote fossilization is

A- Rapid burial and/or lack of oxygen

B- Presence of soft bodY Parts
C- material is trapped inside coating such as water

24-A fossil mold is

A- a reproduction of the inside or outside surface of a iiving thing

e- duplicate of the original organism; usually formed by replacement of inside of living thing

C- Spaces dug out Uy iiving things and preserved as is or filled in

D- All of them

25-The importance of fossils to Geology is:

-----GOOD LIICK------

Prof. Dr. Mamdouh Farrag Soliman June-2015
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Assiut University
Faculty of Science

Geology Department

Time Allowed: 1 Hr

2nd Semester FinalWritten Exam, 20L5
(Group Four)

Course: Fundamentals of Geology, G100

1- State whether the following are correct or wrong and correct the wronq one (5 marks;
1 mark each)

A- Deserts are dry areas that lack sufficient vegetation to support abundant animal life and
they are may be cold, temperate or hot.

B- Absolute age dating is when the rock's age is determined relative to another rock's age.

C- Deformation is the response of any material (solid, liquid or gas) to forces that change its
shape, size or position.

D- Mature streams are straight channel with a steep gradient and flow in a V-shaped valley
in a highland or mountainous area with little shifting of its channel.

E- Deposition is the process by which soil and weathered rock particles are transported, or
moved from one place to another,

2- Define FIVE ONLY of the following (5 marks; I mark each)

a- Weathering, b- Fossil, c- Ground water, d- Folds, e- Glacier, f- Primary structures,

g- Sinkholes.

3- Choose the correct answer: (5 marks; 1 mark each)

A- Chemical weathering includes:
1- Oxidation 2- Acidic groundwater 3- Acid rain 4- Lichens 5- All of them

B- Body fossils that may be found in sedimentary rock layers are:
1- Bones 2- Leaf imprints 3- Shells 4- All of them

C- ln areas of active wave erosion, some landforms are developed and this may include:
1- Sea caves 2- Sea cliffs 3- Sea stacks 4- Sea arches 5- All of them

D- Types of unconformity that may be recognized at different rock sequence are:
1- Angular unconformity 2- Disconformity 3- Ndn-conformity 4- All of them

E- Which of the following landforms is developed or enhanced by the wind action?
1- Pediments 2- Playas 3- Mesas 4- Buttes 5- All of them

4- Write briefly on TWO ONLY of the following (10 marks; 5 marks each)

A- Types of Alpine glaciers,

B- Different types of faults (with drawings).

C- Physical weathering.
D- Geologic timescale.

Dr. Amr S. Deaf Qoo{fuc€



Assiut University, Department of English
English 2 for the Students of the petroleum Geology program
Faculty of Science, Second Semester
Level Two, English 2.
Final Exam,May 2015
Time: Two hours

Answer the following questions:
First: write an essay on One of the following topics: ( 20 marks)

A. Information technology and its-application in our daily life
B. How can we help in developing our community?

Second: Read the following text, then answer the questions that follow: (10 marks)
Very few events can be more dangerous and"frightful than a nuclear war. In a

nuclear war, most of the world's population could be exterminated. The few living
creatures that will survive the war wiJl be exposed to radiation, which is so harmful to
life. It has been confirmed by scientists that many dangerous diseases could be caused by
radiation. It is now time for the whole world to learn how to live in peace to avoid the
dangerous consequences of nuclear wars. One basic requirement for living in peace is to
promote productive internatioiiil relations among nations, and to minimiie conflict
among different cultures. This attitude should be inrn.porated,not o"l), i1 diplomatic
circles, but also in educational systems and various institutions.
1- Suggest an appropriate title for the above text.
2- How can a nuclear war affect those who survive it?
3- What is the best way to avoid the danger of nuclear wars according to the text?
4- Explain the meaning of the underlined words and use each in u s"ni.rr.e of your own.
Third: Choose the correct option: (10 marks) !

1. He. .. T.V. all night
a- has been watching b- has watched c- watched d- had watched

2. .....he worked harder, he would have passed the test
a- Had b. Has c- Will d. Could
3. While I was going home, L.......... to buy something.
a-will stop b. stop c. stopped d. have stopped
4.. The bus... ...before Iarrived.
a.had left b. will leave G. was leaving d. left

Fourth: Translate the following into Arabic: ( l0 marks) ,l
Reading is one of the best ways to stimulates imagination. In our complex society, we

need people who can find ways of solving problems. People who have been reading a iot of
science fiction for example can develop good imagination. They can use their imagination
creatively to solve problem in ways that other people could never dream of. Thus, reading is
never a waste of time. It provides readers with many satis$zing hours that teaches them about
life, stretches their imagination, and focuses their minds on today's problems. Reading is and
should always be an important activity for all people.

Good Luck!

Examiner: Professor Abdelgawad T. Mahmoud
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Assiut University
Faculty of Arts
Dept, of English
First Year

Date: Ltl6l20t5

(i)

2nd Semester Final Exam

May,2015
English Language I

Faculty of Science

Time: 2 hours

,ffi

-*A,nqwet all tlre following questions:
I- Write a parasraph on only Onq of the follo.wing:
a) The importance of learning foreign languages
B) Modern technology: its pros & cons

( 10 Marks)

II-Read the following passage and flnswer the queptions below:
As a child, you have played with objects in the bathtub, noticing that the bar of soap sank to

the bottom of the water while the plastic soap dish floated on top. Why is it that many objects

ranging from a piece of cork to an ocean liner will float, while others will not?

The force that makes objects float is called buoyancy. This concept was established by the

great Greek mathematician Archimedes, who also played in the bathtub. Archin:ledes observed

that when he got into his bathtub, water was displaced, or pushed out. He determined that any

object immersed in a liquid is buoyed up by a force equal to the weight of the fluid displaced by
the object. This is known as Archimedes' Principle. For example, suppose a rock weighs 100

pounds and has a volume of I cubic foot. When that rock is submerged in water, it displaces i
cubic foot of water which weighs 62 pounds. Therefore, the gravitational pull on the rock is
100 pounds downward and the buoyant force is 62 pounds upward. Out of the water, you

would need to exert a force of 100 pounds to lift the rock. In the water you would have to exert

a force of 100 minus 62 pounds (or 38 pounds).
The buoyant force of a liquid, or how much it pushes upward, depends on the density of the

liquid. A body will float if its density is less than the density of the liquid in which it is

immersed ; it will sink if its density is greater. Ice is less dense than water, so icebergs float on

the surface of the ocean. Steel ships are designed with many spaces filled with air so that their
density is less than that of water.

Density is computed by dividing the weight of the liquid by its volume. Salt water has a
density of 64 pounds per cubic foot, while fresh water has a density of 62 pounds per cubic
foot. Hence the buoyant force of salt water is greater than that of the fresh water, which
explains why it is easier for a swimmer to float in the ocean than in a lake, Similarly, an ice

cube will float in a glass of water, That same ice cube would sink in pure alcohol, because

alcohol has a lower density than ice. The tendency of an ice cube to sink or float in a drink
depends on the proportion of water to alcohol. Be on your guard if you put an ice ctlbe in a
drink and it sinks to the bottom.

Specific gravity is the ratio of density of a substance to the density of water. Human beings

have a specific gravity of approximately 1.0, which is the same as that of water. This is not
surprising, considering that our bodies are two-thirds water! However, a fat person has less

specific [ravity than alhin person and therefore has an easier time floating. 1

To be continued
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-ouestions: ( 2o Marks)
1- Who was Archimedes?
2-What is the specific gravity?
3-Wh5r isn't it surprising that human beings have the same specific gravity of water?

-Circle the letter of the answer that better coryplejes each gf theloUowine sentences:

4-Since cork floats in water, we know that its density is
a) more than that of water b) less than that of water
5- lt is easier to float if you are

a) thin b) fat
6-4. ship will float higher in
a) lake water b) ocean water
7-The best place to make a scientific discovery is

a) in the bathtub
8-An egg will float better in

b) not stated in the passage

a) salt water b) fiesh water
9- At aparly, if an ice cube sinks to the bottom of your drink, you should

a) go home b) investigate the contents of the drink.
l0- It is easy to lift someone in the water because ot'
a) buoyant force b) specific gravity
III-For each of the following sentences, choose the correct word.

1- The prisoner was (hung/ hanged) last night.
2-The sugar had a negative (effect-affect) on the science experiment.
3- I am going to (lie-lay) down for an hour.
4-Haley did not mean to (inferi imply) that.Ienny was to blame.

S-The disappearing penny was simply an optical (allusion/iilusion).

IV-Correct the verbs between brackets. Some verbs are right.

1-Look over there! The horse Ljurnp] over the fence.

2- I'm still flearning] how to drive.
3- They want to fwatch] TV now"
4- She once [wok] in a restaurant.
5- Linda [dance], but she stopped when she saw me.

( 5 Marks)

( 10 Marks)

V- Tfanslatg the followine into Arabic: ( 5 Marks)

The establishment of public libraries and school libraries contributed to improving the

learning process as a whole and helped many citizens to read freely. Public libraries play an

important role in spreading culture and awareness among people of all ages.

Best Wishes

Dr. Hussein Saleh
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Assiut llniversity
Faculty of Science

Second Semester Final Examination
(June 2015)

Subjectr English Language II
Students: Level One

Code:

Time

ffiilffi\
trffiil
LLg*rt U

02OUR
Allowed:2 hours

General Instructiong:

t The exam booklet consists of two pages.

o Do not write your name inside the exarn booklet.
t Do not give more than one answer to each question.
t Do not use pencil or red pen.

I- Write down the main pattern of the following paragraph: (4 Marks)

Apples and oranges axe both fruits, which means that they have seeds inside of

them. Each has a skin, but orange skins are thick and easy to peel. Apple skins are

thinner and do not peel easily. Oranges also contain more acid than apples, but both

ftuits are delicious.

II- Complete the following sentences: (10 Marks)

l- ... is a person who is the first to discover something which

opens the way to others.

2- .. is the outer covering of an apple.

4- .. . is the soft substance of a fruit.

5- ... is the small seed of a fruit.

III- Choose the correct answer! (20 Marks)

1. Incredulity is a (lack of trust I lack of belief).

2. A long high bridge which ca:ries a road or railroad is (a viaduct I anaqueduct).

3. To (secede / recede) is to withdraw officially from a political group.

4. The politician (depleted / deviated) from the subject because he didn't want to

answer the question.

Page I of2
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5. He went to an (accredited / incredible) high school'

6. Whether you like it or hate modem art depends on your (perspective / aspect)'

7. The waiter (deducted / conducted) the guests to their table'

8. The prefix "pseudo-" means (false I back)'

9. The word "carnivorous" means (meat-eating I plant-eating).

10. The word "strides" means (steps forward / arguments)"

w- f'il in the blanks: (16 Marks)

A) using the proper prefix, write the opposite of each of the following words:

B) Give the noun of each of the following verbs: (4 Marks)

C) Give the adjective of each of the following words: (4 Marks)

D) Complete the chart with the appropriate word forms: (4 Marks)

Person AdjectiveThinglPlace

Botany

Scientific

(4 Marks)

Familiar

(Best Wishes)
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Dr. Hussein Salah

4b+

PageZ of}



-

Geology Department
Faculty of Science
Assiut University

Two hours

Part I(

Chose the correct answer:
(1) The velocity by which the Arabian plate
(a)10 mm/year
(c)10 Cm/year
(e)10 m/year

(a) Pre-Cambrian age
(c) Cenozoic age
(e) Tertiary age

(Jr

;Jl 4rar;ll altl

moves away fromAfrican plate is ,....,..
(b) 1-2 cm/year
(d) 1-2 mm/year
(fl1-2 mlyrat

(blthe newer plate
(d)the more felsic plate
(f)the more thicker plate

(b) Cambrian age
(d) Mesozoic age
(f) Quaternary age

(b) asthenosphere
(d) innersphere
(f) ionsphere

rock usually formed by contact metamorphism.
(blcataclastic rock
(d) Schist
(f) Fault breccia

(,Jsyl {car;^tt1 rjsYl dii,*tl dJEiJl gt-rirl

lnterior processes)(2S Marks)

(2)San Andreas Fault isthe type example of the ..'..
(a)convergent plate boundary (b)transform plate boundary
(c) divergent plate boundary (d)subduction zone
(e) mid-oceanic spreading center (f) oceanic trenche

(3)When two continental plates collide, the .......'....' is formed

{a)subduction zone {b) high mountain
(c) trenche (d) new oceanic crust
(e) rifting (f)mid oceanic ridge

(4)When two oceanic plates collide, .....issubductedunderneath the another plate.
(a)the older plate
(c) the hotter plate
(e) the more deformed plate

(5)The supercontinent Pangaea was existed in ."...'

(6) The......,... ls formed of uppermost mantle and crust
(a) lithosphere
(c) mesosphere
(e) outersphere

(7)...,....is a hard, dark, fine-grained
(a)Cornfels
(c) Mylonite
ie) Hornels

(8).....,,..,is the metamorphosed rock after limestone.
(a)Shell (b)Quartzite
(c) Mudstone (d) Marble
(e) Green schist (f) blue schist

(9)..,...is formed from evaporation of ions dissolved water'
(a)Gypsum (b) Marble
(c) Sandstone (d) Shell
(e) Mudstone (f) PhosPhate
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(10).,.,.. refers to allthe processes that convert loose sediment to hard rock'

iuiivr"lurotphism (b) Metasomatism

i"i p,'ti,r *L*ins lfiffXll".-,ffi"(e) Dissociation

(11)When igneous rocks are subjected to partial melting processes'

formation'..
(a) melt
(c) new igneous rocks
(e) metamorPhic rocks

(1 2)Magma is the ' '. '. '.. 'molten that generate interior the plants'

(a)silicate (b) mineral

(c) Fe-Mg {d)sulPhate
(e) basic (f)acid

(13).....,.....' are ultrabasic plutonic rocks'

(a) Ryolites (b) Dacites

(c)Trachytes (d) gabbros

(e) Granites (flPeridotites

(14).........." consist of the lithified remains of plants and animals

(a) Clastic sediments (b) Clastic rocks

(c) Bioclastic sediments (d) Bioclastic rocks

(e) Evaporites 
Trrlr 

it)'ctremical sedimentary rocks'

they result in

(15)Plutonic rocks are """
(a) holocrYstalline
(c) holohYlline
(e) glassY

(b)sedimentarY rocks
(d) sediments
lfl metamosPhosed rocks

(b) hYPocrYstalline
(d) subcrYstalline
(f) porPhYritic

(16)...... is not the source of magma'

(a) The upper continental crust (b) The lower continental crust
(d)The lithosPhere

(c)The oceanic crust 
ifl,ih; mesosphere

(e) The asthenosPhere

(17)Whenthemetamorphicrockissubjectedtoheat,itisconvertedinto....,....,''
(alcrystalline rocks . 

' (b) new metamorp-hic rock

(c) high solidify sedimentary rock' iAi n"* sedimentary rocks

(e) schistose rocKs (f)foliated rocks

a ..., comparatively weak laying underlying the lithosphere'
(b) rigid
(d) brittle
(f) coarse

(18)AsthenosPhere is
(a) hard .

(c) soft
(e) solid

(19)Felsic minerals are enriched in""""
(a) Mg and Fe

(c) Si and Mg
(e)Si and Al

(b) Mg and Ga

(d) Si and Fe
(f)Si and Ti

(20) The silicate minerals are characterized by """""
iui'=,i.o" dioxide 

[3]:1,,il;t.trahedron(c) silicon trigonal
(e) silicon tetra-oxides (flsilicon divalent cations'



(221 ....., compare weight of the mineral to the weight of water of the same volume

(21 ) ,...are
activitY
(a) Hydrotherrnalminerals
(c) Hydrous minerals
(e) Silicate minerals

(a) Specific gravitY
(c) Hardness
(e) Streak

Choose the Correct answer:

1. In cleserts, wind erodes trY:

a. Soh-rtion and hYdrolYsis

c. Solution and traction

2- When a river meets an ocean

L-? )

minerals precipitated from hot aqueous solutions associated with magmatic

(b) Hydro-Pressureminerals
(d) Anhydrous minerals
(f)Economic minerals

(b) DensitY
(d) Luster
(f)TransParencY

(23)The interfacial angles are th-e"'"
(a)anglesbetweentw-ocrystalfaces(a)anglesbetweenthreecrystalfaces
(c) angles between four crystal faces (c) angles.between six crystalfaces

(e)the sorid angres 
vqr v,v!-' '---- 

i"i.ngr*. between more than two crystal
phases

(2a)The orthorhombic system crystals are characterized by""'

ia)iong c-axis (a) long b'axis.

i;i A;rl c-aris and b-axis (c) equal c.-a.1is and a-axis

(e) equal three crystallography axes (ei unequat three crystallography axes

(25)The difference between hexagonal and trigonal crystals. is""'

iriirr" length of c-axes (althe length of b-axes

i.i 11.,, i."gths of the horizontal axes ic) the vertical planes of symmetry

i.i tii" ,**nt ot troiizontal axesangles (e) the symmetry of c-axis'

Part II (Exogenic Processes) (25 N{arks)

b' Traction and Plucking
d' Deflation ancl abrasion

or sea rvhich depositional feature is

often formed?
a. Alluvial lan b. delta c. sand bar

3- A landform that is created by the cutoff of a m€ander is a (an)

a. oxbow lake b' natural levee c' river terrace

4- Joints are fractures in the rock that have noticeable Yertical

displacement.
A ,True

5- Which of the follorving
a. nonconformitY
c. r-uiifbrmitY

b. False

is not a tyPe of unconformitY?
b. disconlormity
d. angular r-rnconformitY

6- Which of the following represents a process of chemical weathering?

a. Thermai expansion aid contraction b' Mass exfoliation

c. Oxidation and Hydrolysis d' Frost action ancl crystal grou'th
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7- Permeability is:
a- fhe abilitl,of a soiid to allow fluids to pass thror-rgh.

b- 'l'he process by which plants release water vapor to the atmosphere.
c- 'fhe arnount of water vapor in the air relative to the maximun"i an

water vapor that air can hold.
cJ- The percentage of pore space in the rock.

8- Normal graded bedding is characterized by:
a. an increase in sediment size from bottom to top.
b. a decrease in sedirnent size lrom bottom to top.
c. an Lrnsorted mixtr"rre of many difl-erent sedirnent sizes.

cl. being {'ournd only orr the continental slope olf the Newfbundlancl coasl

9- Fossils that show geographically widespread and short span of time
are known as:

a- Body fbssils b-Index fossils c-Trace fbssils

l l- The boundary between the saturated zone and the unsaturnted zofie
is called the:

a. Water table b. Aqr"rifer c. Aquiclude d. Porosity

I0- Meclranical weathering can
lbllowing EXCEPT:

a- Burror.ving by animals
c- C'arbonic acicl

result from the action of all of the

b- Ice wedging
d- Plant roots

b, Aeolian clast
d. Longitudinal dunes

c. Cenozoic Era

tl-ie atmosphere.
the maximun"i amount of

12- A faceted pebble shaped by the wind is termed a:
a. Ventifact
c. Yardang

l3- The youngest Era of the Phanerozoic Eon is
a. Paleozoic Era b. Mesozoic Era

I4- Ilarchans are:
a. crescent-shaped dunes

b. ridges parallel to the wind direction
c. ridges transverse to the wind direction
d. streamlined bedrock hills scoured by the wind

15)". ..is a natural underground opening with a connection to
Earth's surface.

A) Cave B) Sinkhole C) Sinking streanr

16) Valley Glacier is a type of ... .. glaciers.
A) Alpine B) Continental C; Icecap



17\ .........are folds where the
have been folded downward and the
inward toward the hinge of the fold.

A) Synclines B) Anticlines C) Monoclines

l8) .........are faults that result from horizontal tensional
stresses in brittle rocl<s, where the hanging wall block has moved
down relative the footwall block.

A) Normal taults B) Reverse faults C) Strike siip laults

19) . are rounded elongated hills of sediment left by a
glacier's retreat.

A) Moraines B) Drumlins C) Esl<ers

20) .. .....is a wide relatively elevated area of comparatively
flat land bounded on at least one side by cliffs.

A) Mesa B) Butte C) Platear-r

2l\ are deserts where mountainous regions cause
air to rise and condense, dropping its moisture as it passes over the
mountains.

A) SLrbtr<lpical deserts B) Poiar deserts C) Rain shadow deserts

22) .. is a place where water flows naturally from roch onto
the land surface.

A) Well B) Perched water table C) Spring

C) Chemical

originally horizontal strata
two limbs of the fbld dip

23) Exfoliation is a result of ... ... weathering.
A) Mechanical B) Thermal

24\ is the accumulation of sediments,
contributes to the general leveling of the earth's surface wlrich
occurs when the medium transporting the sedirnents loses power.

.z\) Weathering B) Erosion

25- Write the type of the following two structures

C) Deposition

,,,,,.ggi3il! tiilrli.o: po {Ii*y1 ,-,(rl1
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